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S={(L, #),(L, &), (38, %), (3, *)}
A:{(}L, '}5};‘)’ (&H-’ %)’ (&H" '}6};‘)}
B={(3&, %)}
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EZIANPI T, ERmEEHARAE,
W E4-BX 4 6% A P(B) =%.
X 2 P(B)=P(B|A).

ERRAETEHANRERT THARTN,
1 e B R KNS R AFHAERERS, = A




P(AB)
P(A)

R ABAAF BT & &g L.

P(BIA) =




—. FHBEZX
P(B| A) = \15),
P(A)
B R P(e| A)R M F
(1) 7 HB: P(B|A)>D0;

()M : P(S|A) =1

()T T Aht: B,B,,...,BB, =,i=],

P(A)=0

] P(UB |A)—ZP(B | A).

=1



#ld=: P(B|A)=1-P(B|A)

P(BUC|A)=P(B|A+P(C|A)-P(BC|A)

BSC = P(B|A)>P(C|A)




2. SFERXIBETI1439A, FFRXBIRE BvfoRiE &
BRZ AR R, KIFEtE

e ERVABIAFRAM  gym 320 405 725
#H—A, KARTHER, ARME 74 640 714
TES Y 394 1045 1439
125 P(AB) =320/1439 =0.222,
N P(A) = =1439 = 0.504,
_ 394 _ P(B|A) = 320/725=0.441,
P(B) 1430 0.274,

P(B|A)=74/714=0.104.
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=, TENX

YT @b SR AR A & LA
P(AB)=P(A)-P(B|A)=P(B)-P(A|B)
P(ABC)=P(A)P(B|A)P(C| AB)

P(AA, -+ A) =
P(R)P(A, | AP(A | AR+ P(A A A)




#]3: P(A)=1/4,P(B|A)=1/3,P(A|B) =
£ P(AUB),P(A|AUB).

#: P(AB)=P(A)P(B|A)=1/12.

P(AB) = P(A| B)P(B) = P(B) ~1/6
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P(AUB) = 6 127127 3 476 12

P(A|AUB)=1-P(A|AUB)=1- ﬂg
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Bla: —E&FASALIEK, ANAR, K ARKE
¥, FRB—A, B3K.

(1) KATARFESH —RRE| LLROIBEFE;

(2) CoAMARFESH—RBREB| LR, KATHA
RP A —RIBB LR R

(3) KB1, 2ABRI| LR EILRD GRGBE.
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. AA={Fi kBRI 4K}, i=123

B = {3 # Kk & H —RIE L),

C = {#T 7 Kk Mo A — K BB 4138,
()P(B)=1-P(B)=1-P(A)P(A,|A) =1-2x3 =2,

9”8 6
_ ~m_1_P@BC) . P(AA) 2
(2)P(C|B)=1-P(C|B) =1- P (B) =1- (B) ~ 3

(B)P(AAA) = P(A)P(A|A)P(A|AA) =2x g x5 =22,
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L B15: FASMEMBREEE, LhBEIREL
gt @ AR H60%; EHF1LkAET, &
B, H2RBTBEEATY%; FAT kK
Bad, W HAIKALETAIBEEH80%. KLARK
Z3IRBEI T HEOBE,
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iR A ={Fi REIZ#}, i=123
A={& % = kBT ZH}

M A=AAA
P(A)=1-P(R) =1~ P(AA,A)

=1-P(A)P(A, | A)P(A | AA)
~1-0.4x0.3x0.2 = 0.976.
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